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DISTANCE FORMULAS

1. Distance between the points (a+b, c-d) and

(a-b, c+d) is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5xw7eu7PcuTA

Answer: B::D

o Watch Video Solution

2. The distance between the points (x,-7) and

(3,-3) is 5 units. Then the values of x are


https://dl.doubtnut.com/l/_5xw7eu7PcuTA
https://dl.doubtnut.com/l/_fIHRUjoI1iWc

A.Oor6

B.2or3

C.50r1

D.—6 or 0

Answer:

° Watch Video Solution

3. if the distance of the points (x,4) from the

origin be 5 units, then the value of x is


https://dl.doubtnut.com/l/_fIHRUjoI1iWc
https://dl.doubtnut.com/l/_s3TUzsP6C2ZK

A— +4

B.— + 95

C.—+3

D. None of these

Answer: C

o Watch Video Solution

4.The coordinates of the centre of a circle are

(0,0). If the coordinates of any point on its


https://dl.doubtnut.com/l/_s3TUzsP6C2ZK
https://dl.doubtnut.com/l/_VraPBUVLpeXP

circumference be (3,4) then the radius of the

circle is

A. 5 units

B. 4 units

C. 3 units

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VraPBUVLpeXP

5. The distance of the points (a+b, a-b) from

the origin is

A 2v/a® — b
B.2v/a? + b
C.v/a>+ b

D. \/2(a2 +b%)

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_CJyFtotj4mxJ

Examples Short Answer Type Question

1. Find the point on the y-axis which is

equidistant from the points (2,3) and (-1,2).

o Watch Video Solution

2. The square of the distance between the

points (-2,a) and (a,-3) is 85, find a.

° Watch Video Solution



https://dl.doubtnut.com/l/_IRnVQO0GH2Pj
https://dl.doubtnut.com/l/_cYlkYv6K8wRn
https://dl.doubtnut.com/l/_dDB7YLsNE26R

3. Show that the distance between (1,1) and

( 2m2 (]. — m)2

T 1 ) is independent of m.
m m

° Watch Video Solution

4. The coordinates of one of the vertices of a
triangle is (2,0) and the coordinates of the
mid-points of its opposite side is (5,3) . Find

the length of the median.

o Watch Video Solution



https://dl.doubtnut.com/l/_dDB7YLsNE26R
https://dl.doubtnut.com/l/_fSL6NpzTbRbi

Examples Long Answer Type Question

1. Prove that A(3,3) B (8,-2) and C(-2,-2) are the
vertices of a right - angled isosceles triangle .

Also, find the length of the hypotenuse of

A (ABC)

o Watch Video Solution

2.Show that the points (2,1) (0,0) (-1,2) and (1,3)

are the vertices of a square.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_etyG78TuoG0M
https://dl.doubtnut.com/l/_Zh0XhoN7fBpd

3. Calculate whether the three points O (0,0) A

(4,3) and B(8,6) are collnear or not.

o Watch Video Solution

4. Show that the successive joining of the
points (-7,2) (19,8) (15,-6) and (-11, -12) produce a

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_Zh0XhoN7fBpd
https://dl.doubtnut.com/l/_E0z4howvnq7f
https://dl.doubtnut.com/l/_Wz8O5jKrXtgm
https://dl.doubtnut.com/l/_friwROoqQGnK

5. Show that the successive joining of the
points (2,5) (5,9) (9,12) and (6,8) produce a

rhombus.

o Watch Video Solution

6. The line segment joining the points (7,1)
and (9,3) is the base of an isosceles triangle . If
the abscissa of the triangle be 4, find the

vertex.

° Watch Video Solution



https://dl.doubtnut.com/l/_friwROoqQGnK
https://dl.doubtnut.com/l/_sNar5eGDnbDI

7. If the point (xy) be equidistant from the
points ( a+b, b-a) and (a-b, a+b) then prove

that bx=ay.

o Watch Video Solution

8. Prove that the circle of centre (4,3) passes
through the points (0,0) (8,0) (1,7) and (1,-1) .

Find also the radius of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_sNar5eGDnbDI
https://dl.doubtnut.com/l/_8tneA1LPTKQR
https://dl.doubtnut.com/l/_0qlfP1y1vYWr

9. The centre of a circle is (5,3) and its radius is
5 units. Determine the length of the chord of

the circle, which is bisected at the point (3,2) .

o Watch Video Solution

10. Prove that the points (2,2) (-2,-2) and

(—23,2y/3) are the vertices of an

equllateral triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_3sLC3GGs2jlr
https://dl.doubtnut.com/l/_iUQ8cJ0iqQLE

1. The distance between the points (x,-y) and (-

X,y) is

C.2,/a:2-|-y2

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_C8IbYkwkWlY1

2. The distance between the points

(at%, 2at1) and (at%, 2at2) is

A. Cl,tl + t2\/(t1 + t2)2 + 4

B.a(t; — t2)\/(t1 +15)° + 4

C.a(t; — tz)\/(tl —t5)? + 4

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_C8IbYkwkWlY1
https://dl.doubtnut.com/l/_FYHzqkLwWa3s

3. The centre of a circle is the origin and (-5,12)

is a point on its circumfernce. Then the

diameter of the circle is

A. 5 units

B. 13 units

C. 26 units

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uBUgJ3Fop0BD

4. The length of the hypotenuse of the right -
angled triangle with vertices (7,9) (3,7) and

(-3,3) is

A. /272 units

B. /136 units

C. /276 units

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ceg1BtkfhOSG

5.(2,1) and (0,0) are the two adjcent vertices of
a square. Then then perimeter of the square is
A. 5 units
B. 20 units
C.24/5 units

D. 4,/5 units

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MOYG6lKbVaJs

Short Answer Type Questions

1. Find the distance between the points (-13,-11)

and (-2,-9)

o Watch Video Solution

2. (3,7) , (-2,4) are two adjacent vertices of a

square. Find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y3tbzT2PxynA
https://dl.doubtnut.com/l/_cXXCTNlkRKhL
https://dl.doubtnut.com/l/_khb9VCahsCjQ

3. The three vertices of a triangle are (3,0) (0,4)

and (-8,-2) . Find the length of its largest side.

o Watch Video Solution

4. Determine the area of the triangle produced
by a straight line when it intersects the

coordinate axes at (4,0) and (0,3) respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_khb9VCahsCjQ
https://dl.doubtnut.com/l/_7o0xIU8SCPoz

5. The ordinates of two points is 2 units. Find
the coordinates of the points if they are
located on the opposite directions of y-axis

and are equidistant from the y-axis.

° Watch Video Solution

1. If the distance between the points (7,3) and

(2,y) be v/41 units. Find y .

| e |


https://dl.doubtnut.com/l/_zM6wpS5wNk2w
https://dl.doubtnut.com/l/_IDtiLhHREJzn

& Wwatch Video Solution I

2. Prove that successive joining of the points
(7,9) (3,-7) and (-3,3) produce a right - angled

isosceles triangle .

° Watch Video Solution

3. If the points (x,y) is equidistant from (2,-1)

and (-3,4) then prove that y =x + 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_IDtiLhHREJzn
https://dl.doubtnut.com/l/_xhySOf4RgKL8
https://dl.doubtnut.com/l/_VI4ZAbxyKGdG

4. Find the condition that the point (a,b) is

equidistant from the points (8,4) and (-2,-4) .

° Watch Video Solution

5. If the point (x,y) be equidistant from the
points (10,0) (0,-10) and (-8,6) then prove that x

=0 and y =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_EHr8pGAjM1yR
https://dl.doubtnut.com/l/_26w2SWQXGNA2

6. Show that the points (2a, 6a) (2a,4a) and
(2a + v/3a, ba)are the vertices of an

equilateral triangle of side 2a units.

o Watch Video Solution

7. Prove that if the co-ordinates of A and B be
(3,2) and (-6,-4) respectively, then the line AB

passes through the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_U7h3ukmI0DAu
https://dl.doubtnut.com/l/_nnngCxCfIrLK
https://dl.doubtnut.com/l/_6HOjB3eJPvwh

8. Prove that the points P(-1,-2) Q (7,4) R (4,8)

and S(-4,2) are the vertices of a rectangle.

° Watch Video Solution

9. Prove that the points A (-2,-1) , B (5,4) C (6,7)

and D (-1,2) are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_6HOjB3eJPvwh
https://dl.doubtnut.com/l/_9Zhz6sElCSl9

10. A (2,0) B(4,4) and C (6,2) are the vetices of
the A ABC. The mid - points of
BC,CA and AB are D (5,3), E(4,1) and F(3,2)
respectively. Then find the length of the three

medians.

o Watch Video Solution

11. Prove that the successive joining of the

points (4,3) (5,6) and (3,5) produce a square.

° View Text Solution



https://dl.doubtnut.com/l/_odi6dqQQ7EeY
https://dl.doubtnut.com/l/_GgNEjsyjsX1P



https://dl.doubtnut.com/l/_GgNEjsyjsX1P

